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Area of Shape A = 4 squares
Area of Shape B = 3 squares

Area of Shape € = 3 squares

Total area = § + 3 + 3 = 10 squares
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Shape

Description

Calculation

There are 2 squares in each row.
There are 4 rows altogether.

4 rows of 2 squares equals 8 squares.

There are § squares in each row.

There are 4 rows altogether.

4 rows of  squares equals 20 squares.

There are 7 squares in each row.
There are 6 rows altogether.

6 rows of 7 squares equals 42 squares.

4x2=8
or
2x4=8
4xs5=20
or
sx4=20
6x7=42
or
7x6=42
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4x7 = 28 squares
a) 4x6 =24 squares
b) 8x6 =48 squares
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